P-III (1+1+1) G / 21 (N)
2021
CHEMISTRY (General)
Paper Code : V-A & B
[New Syllabus]

Important Instructions
for Multiple Choice Question (MCQ)

® Write Subject Name and Code, Registration number, Session and Roll
number in the space provided on the Answer Script.

Example : Such as for Paper III-A (MCQ) and III-B (Descriptive).
Subject Code : |III|A |& |B

Subject Name :

¢ Candidates are required to attempt all questions (MCQ). Below each
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only one
of these alternatives is ‘CORRECT” answer. The candidate has to write
the Correct Alternative [ie. (A)/(B)/(C)/(D)] against each Question No.
in the Answer Script.

Example — If alternative A of 1 is correct, then write :
1. — A

® There is no negative marking for wrong answer.
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Paper Code : V- A
Full Marks : 20 Time : Thirty Minutes
Choose the correct answer.

Each question carries 1 mark.

1. Which of the following is not a classification of drugs ?
(A) Based on size
(B) Based on chemical structure
(C) Based on drug action
(D) Based on target

1. Toa @i e equm @@ifkete @3 7% g& 97 ¢
(A) e To fofe T3
(B) v spwsifter Bom fofe s
(C) o3 faaw ©oF fefe I

(D) feFaresa Tom feofe st

2. Which one of the following polymers is prepared by condensation
polymerization ?

(A) Teflon

(B) Rubber

(C) Styrene

(D) Nylon-6,6

2. Teox siferafer g (@G Ao sAfenraRreE = e (o =7 ¢

(A) Teflon

(B) Rubber

(C) Styrene

(D) Nylon-6,6
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3. Which one is not input device is computer ?
(A) Mouse
(B) Key board
(C) Printer
(D) None of these
3. A @0 TG 2of Toiza w2
(A) T
(B) frcare
(C) ool
(D) (bR 7

4. Which of the following tells the amount of free fatty acids present in fat or oil ?
(A) Acid number

(B) Iodine number
(C) Saponification number

(D) Reichert-Meissl number

4. R @NOF A& T A (OER WK SRS J& W Site @71 s
o = 2

(A) =0T o

(B) WS 37

(C) e 3w

(D) Reichert-Meissl 3T

Page : 4 of 16



5. Azolla is used as a biofertilizer as it possesses —
(A) Humus in large quantities
(B) Rhizobium
(C) Mycorrhiza
(D) Cyanobacteria

5. SHICSTE (&7 A RETE 9920 28 FEd G Stz —
(A) =5 ST To TG #I6e Giele siwief
(B) zreifls
(C) WETFFIEe
(D) ARCARGIPCG R
6. Equanil is —
(A) Artificial sweeteners
(B) Tranquilizer
(C) Antihistamine
(D) Anti-fatility drug
6. BCPNTET 21—
(A) FiGs 5@ »migf
(B) ©ml Truhldl @7y
(C) =S @54 (Antihistamine)
(D) & fcaies 87y
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7. At normal ambient temperature and atmospheric pressure, in which form LPG

is obtained ?

(A) Solid

(B) Gaseous
(C) Liquid

(D) Solid-liquid

7. MR B9 @ WA Geisifer st siven A2

8.

(A) =

(B) ST
(C) w==1

(D) FfI-waet

is a suitable indicator for the titration of a strong acid and

a week alkali.

(A) Methyl orange
(B) Phenolphthalein
(C) Litmus solution

(D) Universal indicator

8. OIg SIFTG @I WA FF-97 T BIRCGHTA C At fevssis ze

(A) T2ze g
(B) CRrCaIrfeTs
(C) feB™T Bl
(D) AT o
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9. At equilibrium the total Gibb’s free energy for all phases is —
(A) Maximum
(B) Minimum
(C) Infinity
(D) Zero

9. AN TR IS VIR S (G [RRT IS zeT—
(A) R (@
(B) A0 =
(C) T3
(D) 0
10. Solvent extraction is more effective when the extraction is repeated with —
(A) Extra solvent
(B) Large solvent

(C) Small solvent
(D) No solvent

10. TR e S @ SR 20 949 FEEe 99 a9 9 2 —
(A) Sfsiie w7l
(B) 2pg @ike =il
(C) T Tk =il
(D) (@ TS =gl
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11. Which one is anionic detergent ?
(A) Sodium stearate
(B) Sodium lauryl sulphate
(C) Cetyl trimethyl ammonium bromide
(D) Glyceryl oleate

11. @G syeRfe fCokees 2
(A) eifeas FoAES
(B) AN =2 ARG
(C) Cetyl GRMIRS SHGHRIN @WN2E
(D) fepTifz €feTm

12. Tincture of iodine is —
(A) Water solution of I,
(B) I, present in water solution of KI
(C) L, present in mixture of water alcohol

(D) Water solution of KI

12. Tincture of iodine 2T —
(A) IECT-47 T w19
(B) IR SIcCiRe «a THfRfere SIwifd «3 @ w39
(C) & R SIETCIRCETe Wetel ToifEe caifen
(D) IR SIReRT ¢F TeR w19l
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13. Which one of the following are metalion indicator ?
(A) Methyl red
(B) Starch
(C) Diphenylamine
(D) Erichrome Black T

13, F5a S D e P 2
(A) 2z @@
(B) b1
(C) Diphenylamine
(D) EBT (Erichrome Black T)

14. Which one of the following is Producer gas ?
(A) CO+N,
(B) CO,+H,
(C) CO+H,
(D) CO,*N,

14. N7 Ny @I AfGTHAE 90517 2
(A) CO+N,
(B) CO,+H,
(C) CO+H,
(D) CO,+N,
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15. For a negatively skewed distribution with a single mode —
(A) Mean=Median=Mode
(B) Mean < median < mode
(C) Mean > median > mode

(D) None of these

15. PIz@ (e 32 (@bl skewed CTERCER ey —
(A) I = LT = FRAISE 3
(B) S < TGN < FRAISE [
(C) &5 > &Sl > ARANSE e
(D) (bR 7
16. Change in phase from solid to vapour —
(A) Melting
(B) Boiling
(C) Evaporation
(D) Sublimation
16. Ff3a 2Ce TS ¥ ARTESTE e —
(A) 70T
(B) o
(C) IArea
(D) TlTww
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17. A computer language that is written in binary codes only is —
(A) Machine language
B C
(C) C#
(D) Pascal

17. BF-snoats qil fo1le SIeoR ehEEe 2e —

(A) e RS
®B) C

(C) C#

(D) A=

18. Which of the following is used as a food preservative ?
(A) Formic acid
(B) Acetic acid
(C) Benzoic acid
(D) Cinnamic acid
18. o3 (FINH M AT JIZ© 27 2
(A) TR SRS
(B) =niFGF =iFe
(C) =& ShifTe

(D) Peifs= =ittt
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19. A fuel is a combustible substance containing as major constitute is —
(A) Nitrogen
(B) Oxygen
(C) Carbon
(D) Hydrogen

19. Gt 257 @io w2aeel e A A 2ddie Somie Rea A —
(A) RCGICE
(B) wIfHCE
(C) S
(D) G

20. The calorific value of LPG is —
(A) 34800 kcal/m?
(B) 84000 kcal/m?
(C) 27800 kcal/m?
(D) 29000 kcal/m?

20. GeAfE-71 ICenfiee o] 2rer—
(A) 34800 kcal/m?
(B) 84000 kcal/m’
(C) 27800 kcal/m?
(D) 29000 kcal/m?
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P - III (1+1+1) G / 21 (N)
2021

CHEMISTRY (General)
Paper Code : V-B
[New Syllabus]

Full Marks : 40 Time : Two Hours Thirty Minutes

The figures in the margin indicate full marks.

Group - A
Answer any three questions : 10x3=30
1. (a) What are sulphonamides ? Can they be used in the medicine against “Cocci
Infection?
(b) What is meant by “pigment” ?
(c) Write down the preparation and uses of Paracetamol and Quinine.
3+2+2.5+2.5
2. (a) How LPG is obtained from natural gas ? Elucidate your answer with a
neat sketch.
(b) What are the advantages of gaseous fuel ?
(c) What do you mean by substituted natural gas (SNG) ? 2+3+2+3

3. (a) What type of chemical substance is fat and oil ?
(b) Discuss briefly the preparation of polyethene ?
(c) What is porcelain ? Name the raw materials required for its manufacture.
(d) What do you mean by glazing ? 2+3+(1+2)+2

4. (a) Define galvanization and mention all stages of this process with suitable
diagram.
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(b) What is latex ? Mention its main constituents.
(c) Define degree of polymerization.
(d) What is Zeigler catalyst and why it used ? 3+3+2+2

5. (a) What are DDT and BHC ? Why DDT is banned ?
(b) Write down the monomer of PVC ? How polyurethane is prepared ?
(c) What is “Water gas” ? 2+2)+H(1+3)+2

6. Write short notes (any four) : 2.5%4
(a) Saponification.
(b) Solar energy.
(c) Thermoplastic and thermosetting plastic.
(d) Superphosphate.
(e) Polythene.
(f) Bio-gas.

Group - B
Answer any one from the following :
7. (a) Find out mean, median and mode of the following data 10,11,11,
12,12,12,13.

(b) How can you calculate the amount of Fe?* in a given solution using
dichromatometry? Explain with proper reactions.

(c) What are the input and output devices of a computer ? 1.5+1+1.5+4+2

8. (a) State and explain Henry’s Law ?
(b) Write down Nerest distribution low and its Limitation
(c) What do you mean by precision and accuracy ?

(d) What is azeotropic mixture ? 3+3+2+2
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EEGRIL
e -5
@ @9e feqfs 2rag Tag wie | 10x3=30

. (a) AETEENET & 2 @ef F @R TMEe-a7 [eta e Rema
IR ¥ AT AL ?

(b) “TACID” F@Ce T @R 2
(c) *TRIGGRE @R Fafae 2efs @3 I (=14 | 34+242.5+2.5

. (a) UIFTST o1 (A LPG [FeIT #Nexl I ©f @3 (3 iz ¢! 71|
(b) TR Gl IR @7 AR & & 2
(c) ARFEHTET TGHEIE 73 (SNG) J#Ce F @™ 2 2434243

. (a) B ¢ (oo & @@ IRT € 2

(b) sifeifes @3 ergfon MHeY K779 wis |

(c) (oNffer 6 2 @7 ergfod ooy eltasm SEEefe aE @ |

(d) caifeR F=Ce Ft @R 2 2+3+(14+2)+2

. (a) TETSINEEHE @3 TS 1S (R TAYE Havrr [fen qvphg St 9|
(b) TGN & 2 @fbx atue ToAmmiT S 391

(c) “feTalRre™ 0o F @R 2

(d) &I SREGF0 1 @R @ @b 92T T4l 27 2 3+3+2+2

. (a) DDT ¢ BHC @3 =t i i 2 DDT @« 59209 % S (2 (e 2
(b) PVC-GF TANE «F(0 (72 | 2IeTRSaei=-97 eefe Iofar el |
(c) “Water gas” J&108 < Q- 2 2+2)+(1+3)+2
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6. MY B (ETC (@ (I BIAD) 2.5%4
(a) ARSI
(b) CTHIfe
(c) ACAeNFEE @R ATHEITR AIFTT
(d) IR PTD
(e) “lferiew
() I

faert - 9
@ (e GFB AT TS We |

7. (a) Sefeiee Maielm 9w, T0F @R ARAEES T @@ 79 10, 11, 11,
12, 12, 12, 13

(b) TIRIFSGICG IR I (9 @aCe FeI@ Fer* @7 “Afamne fefm a1
2 Toe [l w2 [ T

(c) @3> FFoTHITa 95 @k AT Tgefet & 5 2 1.5+1+1.5+4+2
8. (a) (2 @b Il @R YT T |

(b) FC5 g @it fq F9 @R 97 AT A F9 |

(c) figeTel @R AfSFe! IS F @RI 2

(d) GrEGHF e T Ft @R 2 3434242
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